;‘ |L/(“;ﬂ('H

Math 1B whit.. =5 IE ¥ob teonme) @ 4ot

Quiz 5 b G \ ~  Iforgot my code, so please charge me

Thu Feb 14, 2008 v .2 I, dx or (:}Lg s two points: (Name)
ON_ANY PROBLE

YOU MAY USE YOUR CALCULATOR TO SKETCH GRAPHS AND FIND INTERSECTIONS,
BUT YOU MUST /NOT USE falnt

[7 POINTS] Find the exact volume if the region bounded by x = (y — 3)2 and x =4 is revolved around the x-axis.
Decimal approximations are NOT acceptable.
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[6 POINTS] The base of a solid is the region bounded by y =3x+ 2 and y = 6 — x . Cross sections perpendicular to the y-axis are
semicircles. Use calculus to find the exact volume of the solid. Decimal approximations are NOT acceptable.
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IF YOU THOUGHT THE REGION WAS BOUNDED BY THE y-AXIS

- !
2 ""\\[ el &
d = %x(ls] =s ES where § =m ye[5,6], or yT2 if ye[Z,S]'
NS !

I...\--‘-'"““——_.

So. 4 = =(6-y) if yels.6) or —(y-2F if ye[25]
: [ T{)GW-“- o
I Joceyen

| \F You THoUSHT THE

6 CION: WAS NDED
e @ iR Z Plag : REGION: WAS B0V
=1V -+l unanly Ry THE Y—AXIS

o] 4w D) mo S
;8 s e | 1:3DAm

LA T—50+2o-@—8+gn+%[216—216+?2 [180 150+%~5-D CLASS

(ND PapTyY I JE
ARE IN THE §:30AM
CAASE |

- [7 POINTS] Find the exact volume if the region boundedby y = x, y =+4/6—x and y =0 is revolved around x = 6.
Decimal approximations are NOT acceptable.
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